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Reconstructed and simulated

Sample of 1800 pp events
DETECTORS: ITS, TPC, TRD, TOF, RICH, PHOS, START, FMD, PMD, VZERO EMCAL

hadrons: e-, T, W, K, p, A\, 2, =
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Preliminary cuts on tracks

trackCuts->SetMinNClustersTPC(50);
trackCuts->SetMaxChi2PerClusterTPC(3.5);
trackCuts->SetMaxCovDiagonalElements(2,2,0.5,0.5,2);
trackCuts->SetRequire TPCRefit(kTRUE);
trackCuts->SetMinNsigmaToVertex(3);
trackCuts->SetAcceptKingDaughters(kFALSE);
trackCuts->SetPRange(0.3);

roblems at low Pt?
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Efficiency on the reconstruction
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Reconstruction by species
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So many question to answer!
Qcfficiency by detector
Qoptimum cuts on:

® clustering,

® vertexing,

® range on pt,

® error matrix




ALICE pp @ 200 and 900 GeV
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900 GeV, 1800 events
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200 GeV, 600 events
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